> restart
> Ecua:=y"-4y'+4y=2-exp(2x)
2

Ecua = d—zy(x) —4 (iy(x)) +4y(x)=2 e?”
dx

dx
> SolGral = dsolve(Ecua)

i SolGral :=y(x) =e** C2+e&**x Cl +x*&**

| > restart

> SolGral = y(x) = _Cl-exp(4x) + C2-cos(2x) + C3-sin(2x) + 5-exp(3 x) +4°+2
-cos(5 x)

SolGral :=y(x) = _CI e4x+_C2 cos(2x) + C3sin(2x) +5 e +ax+2 cos(5 x)
> SolHom = y(x) = _Cl e**+ C2cos(2x) + C3sin(2x)
SolHom :=y(x) = _CIl &+ C2cos(2x) + C3sin(2x)
> SolPartQ = y(x) =5 & + 4 x> + 2 cos(5 x)
SolPartQ = y(x) =5 & 4+ 4 x* +2 cos(5 x)
> EcuaHom :=y"-4y"+4y'-16 y=0

3 2
EcuaHom = %y(x) —4 (%y(x)] +4 (%y(x)) —16y(x) =0

=> QO = eval(subs(y(x) =rhs(SolPartQ), lhs(EcuaHom) ) )
0:=-65¢"+210sin(5x) —32 + 168 cos(5 x) + 32 x — 64 x°

[ > Ecuacion = lhs (EcuaHom) = Q

3 2
Ecuacion = éy(x) —4 [% y(x)) +4 (% y(x)) — 16 y(x) =-65 e*+210 sin(5 x)

| =324 168cos(5x) +32x—64x

| > restart

> Ecua :=y"-6y'+9y=2exp(4x) +3x°
2

. d d _ 4x 2
Ecua.—gy(x) —6 (ay(x)) +9y(x)=2e¢ " +3x

=> SolGral = dsolve(Ecua)

SolGral :=y(x) =¢>*

C24¢&x (I +2€4x+%x2+%x+%

=> restart
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